Efficiency vs dr

o
[od

o
~

o
o2}

efficiency vs AR

o
&)

o
w

o
D
TIT [T T [ TI T[T T[T T[T T[rrrT

—=— DQM_TT_original_time

.| —— DQM_TT_modified_time

107° 1072 107 1
TP min AR

[y
TTTT] T T

[ Efficiency vs dr (track,jet) |
5
a 0.09
)
©
<l0.08
20.07
>
20.06)
2
(8]
EO'OS
3]
0.04
0.03
0.02
0.0
e

Ratio
N

0.95

1072 107
AR(TP, jet)

=
S
w

Efficiency vs pu

efficiency vs PU
© o o
) ~l o]

o
o

Ratio

14 == - = OB W) (0 A S CT SR T

%9%85"55 60 65 70 75 80 85 90 95 100
Pileup



	Contents
	Page 1


